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Question Number : 1 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 4 Wrong Marks: 1

The dimension of stopping potential V{] in

photoelectric effect in units of Planck’s

constant ‘h’, speed of light ‘¢’ and

Gravitational constant ‘G" and ampere A

15

Note: For this question, discrepancy isfound in question/answer. Full Marksis being awarded to all

candidates.
Options:

gcollegedunias


Stamp

Stamp


1. K®GY2c /3 AT
9 hU/3GY3cl/3 A
3 hY3SBGU3 AT

4 h=2/3-1/3G4/3 A1

Question Number : 1 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

HehTY faerd wura | e fasa V, (stopping

potential) EQl %’W‘i Wi TRl ‘h', TRt

FI M ST TR e G, T TR

A H = ¥ 9 fFgg =53 gm ?

Note: For this question, discrepancy is found in question/answer. Full Marksis being awarded to all

candidates.
Options:

-'I. hEG321/3 A1

5 hY3GH3 /3 AT
3 hY3S/BG/3AT

4. h-2/3c-1/3GY3 A1

Question Number : 1 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

sleasgls vl 2l deellag v, 4wk
les 200s ‘B, UsEIHL 26U ‘Cf el
BRANLE ‘G uA 2 A AL BisHAL

S3k
Qcollegedunia;


Stamp


Note: For this question, discrepancy is found in question/answer. Full Marksis being awarded to al
candidates.
Options:

1. R2G¥2c1/3 A1

9 h/3GY3cl/3A-1

3 hY3SAGUIA-T

4 h=2/3c-1/23G43 A1

Question Number : 2 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1
A particle of mass m is fixed to one end of

a light spring having force constant k and
unstretched length [. The other end is fixed.
The system is given an angular speed w
about the fixed end of the spring such that
it rotates in a circle in gravity free space.
Then the stretch in the spring is :

Options:

mlw>
1. k+m 0’

mlw=

1 2
2' k—muw

milw
3. k+mw

Qcollegedunia;


Stamp


5
mlw=

4 k — wm

Question Number : 2 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

m F=IHA 1 U 0 e (B0 k vd Aqd
F’I‘H]Er Eaﬁl’ﬁﬁ'ﬁﬁm (spring) ??Q?-F
SR Y T A &1 FAF! 1 T SR A5 2|
=9 1 =1 i T1fd o TH FHAT & 95817
F FRI S T S SR T O TEEy
e &5 1 U g9 g o ¢ 5 el A

FOE | B =ren fg=E ©
Options:

mlw”
1. k+ M

mlw>
2 k —mo>

2
mlw™

3_ k+ mw

~
mlw=

4 k — wm

Question Number : 2 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

Qcollegedunia;


Stamp


25 m £V YRIedl 591 k o72dl BN A5 2
I svedl viuemsc dond ariadl easl R
w5 B51 PPWL srselldl wudd 5. oflsd Hsl
selod 8. 24 dad B oflsd S 53 =44l
A sleld 24 o 2MAEL A © 5 ol o
agcals ™l ol Ysd sl daquusik old s,
Al R3erl Grud gl (vizuw)
%3l.
Options:

ml m‘?

1‘ k + mo>

ml'mz
3. k+tmw

ﬂ
mlw~
4 k —wm

Question Number : 3 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

gcollegedunias


Stamp


The coordinates of centre of mass of a
uniform flag shaped lamina (thin flat plate)
of mass4 kg. (The coordinates of the same

are shown in figure) are :

(0, 3) (2, 3)

(2.2)

(1,2)

©.0) (1,0

Options:
1. (075m,1.75 m)

9 (0.75m,0.75 m)

3. (1m,1.75m)

4. (125m,1.50 m)

Question Number : 3 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

== 5 fomm T 92 F AR & 4 kg FEEE
el T oA THTHH w2 & Held s &

© 3) (2,3)
(2,2)
(1,2)

0,00 (1,0)

Options:

Qcollegedunia;


Stamp


1 (0.75 m, 1.75 m)

2 (0.75m,0.75 m)

3. (1m,1.75m)

i (1.25 m, 1.50 m)

Question Number : 3 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

25 A, 2461 (flag) 253l 2 4 kg EUIAL
Y2l (Wavtl Wiz dlsd) AL geEin SegnL 2l

5. (2ugliul ved AL ks
guled )

(0, 3) (2, 3)

(2.2)

(1. 2)

(0,0) (1,0)
Options:
1 (0.75m, 1.75 m)

2 (075m,0.75 m)

3. (1m,1.75m)

Qcollegedunia;


Stamp


4. (125m,1.50 m)

Question Number : 4 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 4 WrongMarks: 1
Consider a uniform rod of mass M=4m
and length [ pivoted about its centre. A
mass m moving with velocity v making

angle B = ZI to the rod’s long axis collides

with one end of the rod and sticks toit. The
angular speed of the rod-mass system just
alter the collision is :

Options:
3 v

1. 71

Question Number : 4 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 4 Wrong Marks: 1

FHAME M=4m 991 | = § THaaH 38
% %% T YU (pivoted) ¥ v T ¥ =wr@l
A m A T UF FU, TS & o0 AG H

0 = - IO T EN T 0 R A 2
T ¥R Ty s 9 ¥ g e =
ZTFHT F IR HIF T R

Options:

Qcollegedunia;


Stamp


~1| W

1.
2 7
2. W
"NEE
3. 71
'4 v
4. 71

Question Number : 4 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

2is M =4m 501 Y3l 244 | el 25
A det g2l [alsa (25ad) 524 8. »is
m AL 2 o sveal Rl ol sl seL ulieadl

. =, - T o= -
ot 434 218 B 0 = 7 lsgendd
A Al »is Sl WA Head (sl
UAMA 8 2 a2l s 5. 2 2L
GlE did o WH-gu iy el slell 24y

8.
Options:
3 v

1. 71

i
[

i
2 72

Qcollegedunias


Stamp


.3\.53
3. 7 1

3|
h--|l‘;4

Question Number : 5 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

Consider two solid spheres of radii
R;=1m, R;=2m and masses M; and M-,
respectively. The gravitational field due to

sphere fﬁ_]j and {ij are shown. The value

f'ml .
of — 1is:
Mo
[zl
'ﬁ S
< 47
=37 "
5 /\@
= (1)
:: -'f "'\-.:\.-'

) N e
U } } ; e, ; >
0 1 2. 3 4 5

radius K
Options:
1

1. 6

WN

Qcollegedunia;


Stamp


Question Number : 5 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

g 21| Md foawt B R =1m 3R
R,=2m ¥ 3R f5 s Z=mm 99 M, 3R
M, ®ETR A A TR (T) T (2) 5
W TeETRYY & e § fomm ™ ¥ @@

4
Eil
i 3 Il'x\ f.f\'.
1 DN
14 5;_;,; Yha\x
/ o e
0 1 2 3 4 5
IEESIR
Options:
1
1. 6
1
2. 3

o2
I\J||-—-4.

=..-J|I-J'

Question Number : 5 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

Qcollegedunia;


Stamp


25 i Blocd Al R, =1m 241 R, =2m 24 g4l
M, 24 M, SRlsl o A 2loul 23l
A (1) 24 (2) A 5REL Wl 2geeus™l &

FE;

r - ["'rI "
dguiba 8. —L 4y
M,

4
m
™
g 3 f ﬂ‘.{ .
S 2 rg‘{_\l N
9 1 Z S g
0 1 2 3 4 5
Bl R
Options:
1
1. o
1
7. 8
1
3. 2
2
4, 3

Question Number : 6 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

Consider a solid sphere of radius R and

- IE
mass density p(r) = P, 1 5 |
o R -),

O<r= R. The minimum density of a liquid
in which it will float is :

Options:

Qcollegedunias


Stamp


Question Number : 6 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

T 319 T 1 B R § 3 596 99

2
: -~
p{r]=pﬂ{1 —ZW,D{rER%tmaﬂw
R )

T e (W) R Tk SH 79 1 FATH T4
U
Options:
Py
1. 5
pé]

A
|

Qcollegedunia;


Stamp


Question Number : 6 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1
2

% r
R BsediAl i plr) = pﬂ{l R_E] ,0<r =R,

Ardl G3ldl 215 8- ol SMIHML Al UL
il a4l w5 d e wadlHl dgdy addl
£,

Options:
Po

1*5

4]

[i]

Question Number : 7 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

A leak proof cylinder of length 1 m, made
of a metal which has very low coefficient of
expansion is floating vertically in water at
(0°C such that its height above the water
surface is 20 cm. When the temperature of
water is increased to 4°C, the height of the
cylinder above the water surface becomes
21 cm. The density of water at T=4°C,
relative to the density at T=0°C is close to :

Options:
1. 104

Qcollegedunias


Stamp


2 1.01

3 126

/4, 1.03

Question Number : 7 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

U @l JF 1 m T ST Fad U Uhl
o7 1 =1 g1 & ToraeR1 WEr e g ¥
Ig Hiyr FaE 0°C 99 % I H W@
FR ST TS 3 20 cm R IHT 3 SR 2
Sl T = GI9EM 4°C T =@l T S § 9
WW@ﬁ Wﬁﬂﬁﬁizlcmﬁ?
S ¥ 1 7 0°C % T 4°C W UM 1 9
fra d 4 fogs e 82

Options:

1. 104

2. 1.01

3. 126

4. 1.03

Question Number : 7 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

Qcollegedunia;


Stamp


25 Vol Al Uuzels duadl aguisl wndl
2 #201-3(Ed (leak proof) Avusi-Al doewd
Im 8, 5 o/ 0°C ™A 2dd Wl Ge =il
2l o2 & 5 sl adl, 20 em e el 2el-L
Gur 2. et welle drysiq qaEla 4°C s2al
ol 5 i wellHl Hwll-l v 2dal Avuse-Al
M3t 21 cm AWM B, T=0°C diyu--l
Ayviellul T=4°C ardaid weelll sl
Al 45 el
Options:
1. 1.04

7 101

3 126

4, 1.03

Question Number : 8 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1
A thermodynamic cycle xyzx is shown on

a V-T diagram.

The P-V diagram that best describes this
cycle is : (Diagrams are schematic and not

to scale)

Options:

gcollegedunias


Stamp


2
F
XS
¥ z
3 v

Question Number : 8 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

U FHMIAS 96 ayzx & (V-T) U f= |
femman T ¥ |

59 95 1 FEtEd (P-V) s = § g FE @
© 2 (o=t wishfae )

Options:

Qcollegedunia;


Stamp


2
: x
AN
e v

Question Number : 8 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

wis Guafly 2l Wb xyzx A (V-T) 2uevs
gelldd .

(P-V) 2ousld & o =1 2l ulpad Hiell uel
A el etz a . (2udu vl
Y © 24 o usHHL A2)

Options:

Qcollegedunias


Stamp

Stamp


Question Number : 9 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

The plot that depicts the behavior of the
mean free time T (time between two
successive collisions) for the molecules of
an ideal gas, as a function of temperature
(T), qualitatively, is : (Graphs are schematic
and not drawn to scale)

Options:

Qcollegedunia;


Stamp


3
T /'/
.—"{-’/
1. 7 71
"\-\.\\
\'\.
T \“m
\\'\.
|
2 | \‘I I
.o’ff’ff
T ,x/
S
[
i
3 VT
,//
T /’/

Question Number : 9 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

Ty A s a T g T\ ®
AT T AT G FeA 1 (S ST ZaH4
% =14 1 99T ) = A9HA (T) & 91 fa=mo
feam 27 (it wisfas 2)

Options:

Qcollegedunia;


Stamp


"\-\
T \\‘“\
2_ I W'l
| A
[] f/f.f
= i
3 v T
P
T ///
//
NS
4. T

Question Number : 9 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

25 wUEAY e Ul Y wHd (9 sl
SR @Al M) 7oAl A (T) AL
(A8 Hlsl opucys <ld el «el <a «eldd
s dellaud 8. (2udi gl
e § e o HEHAL )

Options:

Qcollegedunia;


Stamp


Question Number : 10 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

Three charged particles A, B and C with
charges —4q, 2q and —2q are present on
the circumference of a circle of radius d.
The charged particles A, Cand centre O of
the circle formed an equilateral triangle as
shown in figure. Electric field at O along
x-direction is :

Options:

Qcollegedunia;


Stamp


1 . dregy d2

. %ﬁq
2' -—1*mznd2

Question Number : 10 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

A, B 3R C =¥Eer 1, ToH 92 319 a9
~4q,2q ¥R -2q &, d = & = 99 F
TR W TE F01 A, C 3R g0 = Fs
Ot g9 e a 81 (feasd) | @@
O x—ﬁ?ﬂﬁﬁﬂﬁ%ﬂﬁ%%:

Options:

g

-‘I . d1egy d2

Qcollegedunia;


Stamp


5

2 ] dey d?
243q
3 ’mE.DdE
: \Eq
4 11'&{],::12

Question Number : 10 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

2w sH —4q, 2q 21 —2q wedl [Herms
Al 39 [ydmlkd sel A, B 24 C, d
sv2el M LRISAL AqoAL Yl WR 2uddL 8,
[AgasiEld 580 A 211 C , 2 4 O 2ugldai
BlleML 2AUR HHely BsL A 6. O 24
[Eyrgiat x-[Eus Al

Options:

J3q

1 . dregy d2

343q
2 . d1rey d2

Qcollegedunias


Stamp


Question Number : 11 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 4 WrongMarks: 1

Effective capacitance of parallel
combination of two capacitors C, and C is
10 wF. When these capacitors are
individually connected to a voltage source
of 1 V, the energy stored in the capacitor
5 is 4 times that of C,. If these capacitors
are connected in series, their effective
capacitance will be :

Options:

1. 8.4 uF

9 42pF

3 32uF

A 1.6 puF

Question Number : 11 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 4 Wrong Marks: 1

Qcollegedunia;


Stamp


TE Herd ¥ g2 & §uifei C, R C, #
T S 10 WF 2 | 54 57 Genfisi 1 fer-
F 1V F Ea 3 el 5 g, @ C, H wiea
i C, H "faa s % 4 T A €1 Afg T
Al 1 Avitag Geu § Siren S, 9 St

T STt 2
Options:

1 8.4 uF

5 42uF

3 3.2 uF

4. L16pF

Question Number : 11 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

o MURSL C; 2 G, L HdidR saswel -l
BUR5RS HURSAL 10 uF 6. 1L HazsiH 1V
AL clle2oy GEIM 22U AL sASAUHL 28 o 4R
C, Ul Huldd Glsd C, st 4 2 ll B, =
HelR S HHIARHL sdssML #AeL dl Al 2@51R5
deRsdl JHE
Options:
1. 84uF

7 42pF

9 32uF

Qcollegedunia;


Stamp


A 1.6 pF

Question Number : 12 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

Proton with kinetic energy of 1 MeV moves
from south to north. It gets an acceleration
of 102 m/s> by an applied magnetic field
(west to east). The value of magnetic field :
(Rest mass of proton is 1.6 x 10~ 2" kg)
Options:
1. 71 mT

2 7.1 mT

3 0.71 mT

4. 0.071 mT

Question Number : 12 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

1 MeV 71Tt S5a1 el U 92 S 9§ 37
F1 AR 9 W@ ¢ | 1w 9 gd # AR fem
TEF FHEHE 99 3 59 W 1012 m/s? FH =0
eI eI 2 | T 8 REm A : (W
=1 form F=HH=1.6x10 % kg)

Options:
"| 71 mT
2 7.1 mT

Qcollegedunia;


Stamp


3 0.71 mT

4. 0.071 mT

Question Number : 12 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 4 WrongMarks: 1

1 MeV sy2dl 21[c@ed aztedl Wi elaeel G
A5 9l 52 & 2 d @udd Aeslee (U
gl yd) A s2el 1012 m/s? &l uabi wy 9.
2eisly el ye 23l (el
Rz g =1.6x10 % kg)

Options:

1. 71 mT

2 7.1mT

3 0.71 mT

4. 0.071 mT

Question Number : 13 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 4 Wrong Marks: 1
In finding the electric field using Gauss law

Yenc

the formula ‘E‘ =
[—.ﬂ.;‘ji.

is applicable. In

the formula €, 1s permittivity of free space,
A is the area of Gaussian surface and q_
is charge enclosed by the Gaussian surface.
This equation can be used in which of the
following situation ?

Options:

Qcollegedunias


Stamp


1 For any choice of Gaussian surface.

Only when the Gaussian surface is an
2 equipotential surface.

Only when the Gaussian surface is an

equipotential surface and ‘E‘ is

3 constant on the surface.

Only when ‘E‘ = constant on the

4. surface.

Question Number : 13 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

e e w1 WA #1 faga g9 w1 A
2 = %—“;;‘ o S ¥ | Tl W e, Frama
Eﬂ_.

1 eyl 2, A 7IF Tae =1 85 © AR
Qe 19 T B fo0 goW W ¥ TW
TH 1 @0 = ° 9 uffefa 9
o s g 22

Options:

1 forelt oft vifg e 3 e

FIe 99 B o9 MY Tdg Safayd 908

2. @

Fad 99 & 99 MY Gag gHfaYd 9qe
3 a1 3R |E| 1 HH 59 9d8 W A= 2|

Qcollegedunia;


Stamp


hﬁﬁﬁm‘g‘mmwwm

4. FEA

Question Number : 13 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

AL [l seeell Byasa wac wie

|E| ]E“L ey Wil st B, ALY €, B

Hel wﬁamrﬂ wHleellZl, A =4 oladlaA 2wl
geso o 2 ol -l s gaudl
([Agamr o, el s Bl 2
wlseiAL Guer s34l 2si?

Options:

1. slguel usiRAL M Y w2

g5t eadl2 AUl yos MR Y
SRt

s5cl ez AARlMA yre WA Y

€1 @i Y Guz ‘E‘ SOURUTRIES
‘ — <l
4 B sell Ys Guz ‘E‘ w20 €14,

Question Number : 14 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

Qcollegedunia;


Stamp


At time t =0 magnetic field of 1000 Gauss
is passing perpendicularly through the area
defined by the closed loop shown in the
figure. If the magnetic field reduces
linearly to 500 Gauss, in the next 5 s, then
induced EMF in the loop is :

«— l6cm

4 cm

\*E?J
L
\

\
/
)/

Options:
1. 8uV

2, 361V
3, 48V

4, 56V

Question Number : 14 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

g t=0 T == H fom ™ s g o9 9
T 1000 714 A 1 FH=H T &5 THF o
e €1 afz o7t 5 5 § gEEE o #
T TG (linear) ¥9 9 2 500 TH &1 Sl
€ d 99 H 3@ f=E-9es 5 =1 99

l6em——

Options:

Qcollegedunia;


Stamp


2 3uV
3 48 pV
4 56 WV

Question Number : 14 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

t=0 ¥4, 1000 2Wu 2eisld & suou-
srtsoriell dezil R 2 8, sl 2ugld. s
oflod 5 ws-sui Yotsly &t 2uily {ld w2l
500 2U# 214 dl duvuHl Ukd EMF 524 23]

16 cm

Options:
1. 28V

2 36V

3. 48V

4. 56 pV

Qcollegedunias


Stamp


Question Number : 15 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

The critical angle of a medium for a specific

wavelength, if the medium has relative

4
permittivity 3 and relative permeability E

for this wavelength, will be :

Options:
1, %

3. e0°

4 157

Question Number : 15 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

U HIEAH W, U a9 donesd ¥ ford |

S !
ﬁ%ﬁ?ﬁﬂﬂﬂ%ﬁ?ﬂﬂﬁmgﬁl
=9 e F fod mem F s w5 oE
'FIFE%’:

Options:
1. %

Qcollegedunia;


Stamp


4. 15

Question Number : 15 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

o Al ond 2 eyl ada wildllZl
(Qzidydis) 3 @« wWdE WRoMHdAL

T 4 = = T s
(uzaluedldl2) 3 Gl e HiAL sildsiel

23l

Options:
1. 3%°

4. 15°

Question Number : 16 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

The magnifying power of a telescope with
tube length 60 cm is 5. What is the focal
length of its eye piece ?

Options:

1. 10 cm

2 20 cm

Qcollegedunia;


Stamp


4' 40 cm

Question Number : 16 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

Ife UF AR F1 29 HI T=E 60 cm ©
AR SHFT SAEA 5 B T 5HF AT (eve piece)
Options:

T 10 cm

2 20 ecm

3_ 30 cm

4_ 40 cm

Question Number : 16 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

60 cm sr2dl zyudend auddl dlesiudl
Heetell 5 8. Ay Al Sgdend sedl ¢al?

Options:
1 10 cm

2 20 cm

3 30 cm

*

Qcollegedunia;


Stamp


4 40 cm

*

Question Number : 17 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 4 Wrong Marks: 1

When photon of energy 4.0 eV strikes the
surface of a metal A, the ejected
photoelectrons have maximum kinetic
energy T, eV and de-Broglie wavelength
A,. The maximum kinetic energy of
photoelectrons liberated from another
metal B by photon of energy 4.50 eV is
Ty;=(T,—1.5)eV. If the de-Broglie
wavelength of these photoelectrons
hl;=2h A then the work function of metal
Bis:

Options:

1. 1.5eV

2 4 eV

3. 3eV

Question Number : 17 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 4 WrongMarks: 1

W9 4.0 ¢V 9l & HIEH 91 A F GOe W
TSt Sl T, eV & R 371 E1-rell aiTes
Ny T TH TH U B W 450 eV I &
T2l % T2 T SeTod TotagiHl i SAfaEan
st Sl Ty=(T,—1.5)eV &1 afz T
1St e Ay =2\, T, T 491G B & FE
T A E

Options:

Qcollegedunia;


Stamp


1 1.5eV

2_ 4 eV

3 3eV

4_ 2eV

Question Number : 17 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

stk 4.0 eV Glsd eridl sl aig A -l 1wl
L 2SI 8 413 Betsdell S92 1A YR My
AAGed T, eV 24 &l-sliodl adodeud A, ©.
ofly 4iq B gl2t 4.50 eV Gsdeon siziql
si219asginA-l g AldGed T, =(T, — 1.5)eV
8. ot =l sl2igdseiqdl sl-elpdl diadeud
Ag=2K, €1 dl B 4 asfsuq (seiladx)
e,
Options:
1. 15eV

2 4 eV

3* 3eV

4 2eV

Question Number : 18 Question Type: MCQ Option Shuffling: Yes Qcollegeduniaz
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Correct Marks: 4 WrongMarks: 1

The graph which depicts the results of
Rutherford gold foil experiment with
o-particles is :

B : Scattering angle

Y : Number of scattered a-particles detected

(Plots are schematic and not to scale)

Options:
Y \
1. 0 86—

Question Number : 18 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

i fed 73 feli § 9 =1 W 7F wWEE F
T T 9T -0 G FoR 718 W < i
1 <Y B 7 FE W

B : FERTUE HI (Scattering angle)

Y : WehITUd o011 i HE&

(fe= miwfas )

Options:

Qcollegedunia;
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1. 0 80—

2.
.l'rf 3
Y .."I Y
/
3.
II
Y|\
SN
4.

Question Number : 18 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

32358 HAAL 43v qE a- 591 Al MHEL AL
yhouy qolddl 95 a 2udw 8.

B @ slel siel

Y : AlEdl 2 wbelH ueal a-seidl dua
(23 20dull 551 gld yad 6, H-2Eel
zlzell )

Options:

N

1. 0 8-

Qcollegedunia;
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Question Number : 19 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

Boolean relation at the output stage-Y for

the following circuit is :

—+5V
ID'_; t———4 ) Output-Y
-—____:"h'— :_::_ e 4‘
BVT B = L
Options:
1. A+B
2 A-B
3 A+B

Qcollegedunia;
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Question Number : 19 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

e fog T4 9itey & fia Y & fod gfema

] B
% T +5V
—— g
"—I—JF 1 Output-Y
- - o J
4|i|:: :—_f_;—:'— = A Jr
aV E B — =L
Options:
1. A+B
2 A-B

)
2|
|

~
o |
wal|

Question Number : 19 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

2L Yy 2 20G2ye Y e oelud iy

23l
A T—+5V
—D— At
~—|%: | Output-Y

Fa I = Vi

5 xi[/ B — ¥ —

3 = =

Options:

1. A+B

9 A-B

Qcollegedunia;
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Question Number : 20 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

The length of a potentiometer wire is
1200 cm and it carries a current of 60 mA.
For a cell of emf 5 V and internal resistance
of 20 €2, the null point on it is found to be at

1000 em. The resistance of whole wire is :

Options:
1. 600

31000

4, 1200

Question Number : 20 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

U GrefurTe % 7 i o= 1200 cm @
ﬁ?%ﬂﬁﬁﬂmﬁﬁﬁ@ﬂ%ﬂ%ﬁﬁlﬁ%t
U 5 V faa-9r® 9d 991 20 Q A6dE
yiqieF 9t I F o 59 W gger fag
1000 cm W AT &1 79 GefwEme % ar
%‘lﬂﬁlﬁﬂ%:

Options:

1. 00

Qcollegedunia;
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3. 1000

4. 1200

Question Number : 20 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 4 WrongMarks: 1

Yizwa (il doud 1200 cm 24 sl
60 mA Al Mele WHR WM 5. 5V 24l emf
Gl 24 20 0 @lidlRs 2R1E daEdl Beasy
(cell) W2 d-l W ¥ad Ada- (61§ 1000 cm
DUOLUL HOL 8. BUMIM dldl 2e3lY

Options:
1. 6002

28{]11

31000

4, 1200

Sub-Section Number:
Sub-Section Id:
Question Shuffling Allowed :

Question Number : 21 Question Type: SA
Correct Marks: 4 WrongMarks: 0

2
40503687
Yes

Qcollegedunia;


Stamp


A particle is moving along the x-axis with
its coordinate with time ‘t' given by
x(t)=10+8t—3t>. Another particle is
moving along the y-axis with its coordinate
as a function of time given by y(t) =5— 8t’,
At t=1 s, the speed of the second

particle as measured in the frame of the first

particle is given as Jo. Theno (in m/s) is

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

580.0 to 580.0

Question Number : 21 Question Type: SA
Correct Marks: 4 Wrong Marks: O

TF FU -AY T TH YR =96 3 ¢ TF s
Wt%@ﬂxﬁ&%{cmrdﬂate}iﬂﬁﬁ
x(t) =10 +8t—32 T T THA FI y-34 T
I @ ¥ N 39 y FEmE () =586
g e S g1 4afg t=1s W T 0 &
Ty TR F F M Jo &, q o W AE
{mfsﬁ}%_ .

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

580.0to0 580.0

Question Number : 21 Question Type: SA
Correct Marks: 4 Wrong Marks: O

wis 501 x- gl Bl e A dAl
A =10+8t—32 < »u d¥ 2ld 53 8.
oflsd 521 y-2igAl [Erl, w8y 30
y(t) =5—8t7 2l 2™ 204 5. t=15UAH
soidl k2 [Agagal ol sl el 25y

Jooods sl 2ud 8. dl o (m/s ul)
23

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers: Qcollegedunia;
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580.0 to 580.0

Question Number : 22 Question Type: SA
Correct Marks: 4 Wrong Marks: O

A body A, of mass m=0.1 kg has an initial

Pt

velocity of 37 ms™'. Itcollides elastically
with another body, B of the same mass

4

which has an initial velocity of 5 Jr ms L.

After collision, A moves with a velocity

;: _1[: | ;] The energy of B after

collision is written as — ] . The value of x

is
Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes
Answers Type: Range
Possible Answers:
10to1.0

Question Number : 22 Question Type: SA
Correct Marks: 4 WrongMarks: 0

=90 m=0.1kg F1 U (AU A T ARFHF

= 4 =

T 3i ms 1 Bl UE UERY WS 9 9HE

99 & Y fove B § e € fode
= o — =

FARTEH 97 5] ms 1%|mﬁ$m,ﬁug

i+ j) AmATE T e fivz B

Agp=4

ﬁm%w x T HA ¥

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

10to 1.0

Question Number : 22 Question Type: SA
Correct Marks: 4 WrongMarks: 0

Qcollegedunia;
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25 g A 4 80l m=0.1 kg 24 -l Wz(6s

PL3i ms ! S, o ofla 2ed o 0L Gl

iy

bt - ! - 'ﬂ\ e -
501 B, 5 ol ME[Gs <21 57 ms ™! & adl
Raldaauds Haud 2iqMd 5. Haid CuE A,

—

o —ali +j) dea anell af 2 8.

r . X - -,
W HeL oIE B Al God — T 9 2u 9. x

10
1 3

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes
Answers Type: Range
Possible Answers:
10to1.0

Question Number : 23 Question Type: SA
Correct Marks: 4 WrongMarks: 0

A one metre long (both ends open) organ
pipe is kept in a gas that has double the
density of air at STP. Assuming the speed
of sound in air at STP is 300 m/s, the
frequency difference between the
fundamental and second harmonic of this

pipeis Hz.

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

106 t0 107.2

Question Number : 23 Question Type: SA
Correct Marks: 4 WrongMarks: 0

U HieX o 9 SF1 30 W Hel g9 UF 30

9159 1 U UH 79 H @ T g, g e

91 % AFE A T =6 WS ° 5 AR

IE A 20 T 9% a9 9 2@ WAy H =

ﬁﬁ?ﬂﬂm{aﬁ'ﬂﬁﬁﬁm?ﬁﬁam

#Ar fgdia e = ogfa § o= 2
Hz.

Response Type: Numeric

Evaluation Required For SA: Yes

Show Word Count: Yes
Answers Type: Range

Qcollegedunia;
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Possible Answers:
106 to 107.2

Question Number : 23 Question Type: SA
Correct Marks: 4 WrongMarks: 0

25 dlez diedl (el 838l veel) vl (organ

pipe) -t sedl sl STP 24 geliedl Bell s3elL

(W O TR TR GG TR S AT

STP 2 e+l 254 300 m/s 4Rdl, Ya¥d

el gl 2uad-l 2uqladl  dsied
Hz 2il.

Response Type: Numeric

Evaluation Required For SA: Yes

Show Word Count: Yes

Answers Type: Range

Possible Answers:
106 to 107.2

Question Number : 24 Question Type: SA
Correct Marks: 4 WrongMarks: 0

Four resistances of 15 €2, 12 (}, 4 ) and

10 2 respectively in cyclic order to form

Wheatstone's network. The resistance

that is to be connected in parallel with the

resistance of 10 {} to balance the network is
0.

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

10to 10

Question Number : 24 Question Type: SA
Correct Marks: 4 WrongMarks: 0

150,12 Q, 4 Q 3R 10 ) F =1 AR F
FHAG SIS UF =22  qiay a9 S
Tl R AR i A F 100 F
Wi 9L foh () =1 U Wi o9d a9
T wrer o =91t 0l
Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes
Answers Type: Range

Possible Answers:
10to 10

Question Number : 24 Question Type: SA
Correct Marks: 4 WrongMarks: 0
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AR VARl @2iq5d 15 0, 12 Q, 4 Q @4
10 Q 4 sBs (2l 2a) eddlA kel [Gior
oAl wIgd B, @l d2ds (s dxt) A
HHAEA 574l 10 O 2ARiEA HHIdR sasell Yl
AR 0 .

Response Type: Numeric

Evaluation Required For SA: Yes

Show Word Count: Yes

Answers Type: Range

Possible Answers:
10to 10

Question Number : 25 Question Type: SA
Correct Marks: 4 Wrong Marks: 0

A pointobjectin air is in front of the curved
surface of a plano-convex lens. The radius
of curvature of the curved surface is 30 cm
and the refractive index of the lens material
is 1.5, then the focal length of the lens

(in cm) is

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

60 to 60

Question Number : 25 Question Type: SA
Correct Marks: 4 WrongMarks: 0

U fag & SR T 95 U a9 394 9
1 3961 HE & TH 7@ g 2| 39 Hae
F1 =0 30 em % 3R @9 fowg = € =,
e 1 SATECHIF 1.5 T O I HEHE gl
F1 A cm H fhaa amm

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

60 to 60

Question Number : 25 Question Type: SA
Correct Marks: 4 Wrong Marks: 0

25 [Ggad unel w15 wuda-sildelin d-udl
e UZIHL A gl 9. sl dsaBsen
30cm 8 @i dededl el dsloels 1.5 €l
Al drll srgdetd (em ui) 2l

Response Type: Numeric
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Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:
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